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or closed loop stating the type of feedback if the system is closed loop, and

appreciable parameter variations and external disturbances if appliwl ce f%/ 2 ; f
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express your ideas in Arabic if you wish.
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b) i) Consider the op-amp circuit shown. Use the ideal op-amp model - with %
R, = Q,and R, =0 K to obtain a block diagram involving feedback v;//ith Vout as o
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ii) Write down the value of § :'N in\terms of § :’ . Hence for a particular N, if k undergoes a
decrease by 10% , what percentage change 1/N undergoes?. Physically , what does that
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¢) asystem is given by the following transfer function G (s)= . Using any method ,
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determine the system output response due to a unit step input. Hence, or otherwise, what is
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sH=-X-5H+ %

QL a) A system 18 given by the tollowing ditterential equations
dx dh _
So=2ve2h and —=-x-Sh+24r() = r(U"%“H’)

dt
Feel free to use any method to solve for X(#) when r(#) isa unit ramp. 2 (,9‘) . ‘ -
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